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p.1-2[FREERHE 1.(2),(8),(9)] (2) main(FHESETH) (2) main(§EE%R > main ALREET)
(p.B-1 2%%) (8) qRa(3Eas - RAE B ) (8) qRa(3E2E » & {REIF)
(9) B_W(§HiR © &PREEF) (9) B_W( /% IFFEi5EIE)

p.1-10[ 4K 7R 1.]
(p.B-2 EX)

/D ET#include<stdlib.h>

5T E #include<stdlib.h>

p.1-11 [1-6 [HREHE4H 2.(a)]
(p-B'3 |:l71<)

T IR B AT

T B

SR - S

p.1-11[1-6 [REIEAR 3.]

= SRR S ANR S aav: SITA T

p.2-11[4H7ERE 1.]
(p.B-6 ZZ)

/D ET#include<stdlib.h>

5 {THE #include<stdlib.h>

p.2-11[4FE5E 2.]
(p-B'6 D?l‘\‘)

/D ET#include<stdlib.h>

51T E #include<stdlib.h>

p.2-11[4k7ERE 3.]
(p.B-6 ZZ)

/D ET#include<stdlib.h>

5T HE #include<stdlib.h>

p.2-17 [4RERE 1.]
(p.B-8 EZ)

% 11 7 cahr

ME% char

p.2-18 [2-3 [HEIHAR 3.]

F1T printf(“| %f|\n”, string);

printf(“|%f|\n”, f);

p.2-18 [2-3 [ EE 4
3.](p.B-9 EX)

EEUUTT| 678.90]

ZEPU1T] 678.90]
(678.90 HilHl R FEZE—{E#Z2zH)

p.2-18 [2-3 [ E %
3.)(p.B-9 &%)

5 71171678.90 |

F11171678.90 |
(678.90 IRH A FE—(HZz=H)

p.2- 19[2 3 F‘ﬁaﬁiﬁé’é 4]

% —17"Hello, how are you?"

F—1T H AT A ZEH

% —17" Hello, how are you?"

(55—17 H A IZErs)




p.3-3[3-1 A (associative) o fF—{EZEFE = » J—{E | (associative) - {F—{EZEF = - T
EETWRER - I (ERER — (&R AR (1% iE
A
p.3-10 [$EERE 1.(4)] a=5 a=100
(p.B-13 25%) b=20 b=20
p.3-10 [$EEREH 1.(5)] a=5 a=0
(p.B-13 &%) b=20 b=20
p.3-20 [10 HY 16 #E{rF/x | 000B 000a
A
p.4-21 [#if5l] 4-5a] B/UT B/UT
printf(“GEEm A —EEE: "); printf(“G5m A S5 ");
p.4-22 [#if5l] 4-5b] BT BT
/* switch £ {EFH break; */ /* switch Ut {EF break; */
p.4-27 [ 45 2] BAT BAT
2015 is a leap year 2016 is a leap year
p.4-36 [JiE {1 4-6-8] B/UT B/UT
if (number > 1000) { if (number >= 1000) {
p.4-41 [4-7 RIEESE 1.(c)] | 11T BT
printed(“i=%d\n”,i++); 5 printed(“i=%d\n”,i++);
(12 HHY; Ml 4)
p.4-41 [4-7 RIEESE 1.(a)] | FH=AT B=AT
(p.B-28 &%) | =201 i =201
p.4-41 [4-7 REESE 1.(b)] | =17 B=AT
(p.B-28 BX) i=101 i =101 (=Hi{& Z 00 F2248)
p.4-41 [4-7 REEESE 1.(c)] | =17 B=AT
(p.B-28 B %) i=1 i=1 (=HifRZh0 E2EE)
p.4-43 [4-7 RHEESE 4.] A c A s
(p.8-29 55 REW HEHH AT <, 7, ¢, O
HA ik c
FEEE JAVA KEEB L CES
i A d:
WEE EERAEE
A C:
HEE L
mAHEF I
p.4-44 [4-8 2B /E 9.] inta, b, c,d,e,f den; inta,b,c,d,e,f
(p.B-34 &%) double x, y; double x, y, den;
(& den £% double HURE)




p.5-46[ffE FH#E{1 5-7-5]

52417
printf(“%d/%d + %d/%d = %d/%d\n”
,n1,d1,n2,d2,n3/gcd,

printf(“%d/%d + %d/%d = %d/%d\n”,
n1,d1,n2,d2,n3/gcd,d3/gcd);

p.6-12[# {3 6-3b]

51817
for(i=1;i<n;i++)

for(i=0;i<n;i++)
for(i=1;i<= n;i++)
(fEi=1p4pki=0Efi<n
IR i <=n)

p.7-5[&EH 7-2c]

T RRERES
num?2 [§%1] 5 24bytes

num?2 [E%1] 5 24 bytes
(24 F1 bytes 7 I ZNZEAE )

p.7-23[fEFI#E ] 7-4-1c]

% 37 173 52 {TTEEEIZ NN tab ZEH

% 37 173 52 {TTEEEM tab 225

p.7-30[fE FHEE T 7-4-4]

BT
unsignedlong d =
sizeof(num)/sizeof(num[0]);

unsigned long d =
sizeof(num)/sizeof(num[0]);

(unsigned Fl long 7 fH224%)

p.7-31[fEFH#H] 7-4-5 )

18 119 177210l tab

25 18 1 19 17/l tab

p.8-5[ {3l 8-1c] 1317 printf(“[ElFY & F5%.2f\n”, area)
printf(“[E]HY HITE F5%.2f\n”, area,pi); (area 1R HZA pi)
p.8-7[FREE] F171T 51717

(p.B-101 E5K)

printf(“i=%d, *pi=%.2d\n", i, *pi);
%2417
printf(“f=%.2f, *pf=%.2f\n", f, *pf);

printf(“i=%d, *pi=%.2d\n", i, *pi);
% 2417

printf(“f=%.2f, *pf=%.2f\n", f, *pf);
(ERHEXZ AR Bz

p.8-23[# {3 8-4a]

%2717
total += p[i);

total += p[i];

(/MBS T E57)

p.8-29[ [ B 4K 8.]

(d)invo5 = &vo5

(d)invo5 == &vo5

p.9-8[#i {5 9-2b]

Br—17
printf(“*str+2) = %c\n”,*str+2);

printf(“*str+2 = %c\n”,*str+2);

(78 2 R/ MESE I )

p.9-17 [t SR 2.]
(p.B-118 5 %)

(a)printf(“%s %s\n”,str[1],str[2]);

(a)printf(“%s %s\n”,str[0],str[1]);

p.10-14[FR#ERE 1.]
(p.B-121 H )

/BT #include<conio..h>

tHiET #include<conio..h>

p.10-29[&5{31] 10-4c]

SRR AT
PR ESHE R/ NES: Taiwan

R ESHE R/ NES : taiwan

p.10-53[[REE%H 3.]

/DB #include<string.h>

fHE #include<string.h>




p.11-19[FR#&RE 1.]
(p.B-137 B )

/> #tinclude<stdlib.h>

tHET #include<stdlib.h>

p.11-20[FR#4RE 1.]
(p.B-137 &%)

5 =17 scanf(“%d”,classes][i].id);
{HZEZHZE index

EEEHMWA I
e H Hil Ry index

p.11-26[#i {5 11-4c] %1017 %1017
intid; /*ID SEHE */0 intid; /*ID GRHE */
1217 1217
double score; /*EE4: 438 */0 double score; [*EE4: 458 */
(/121 O fifl#5)
p.11-44[11-6 F2RXE/E 5.] | void del() el ZtH void list()EEZ=CHY els else

(p.B-153 &K Z)

p.11-44[fE A E(E 7. )
(p.B-159 &2 )

int main #RE Y do while &% EHHYE:
fif/*EE4E By 3 APk Al P /

[*EEREE Ry 5 Akt AR/
(3F5)

p.12-34[F3f¥] 12-5a]

B 781T
switch(option

switch(option)

LUTRRESE S

A A 1 (BT RAVER: 100
A AR 1 (BT RAVER: 200
A A 1 (BT RAVER: 300
A A 1 (BT RAVE R 400
A AR 1 {(ETRAVE R 500

A A 1 (BT RAVER: 100
A AR 2 (BT RAVE R 200
A A 3 (BT RAVER: 300
A A 4 (BT RAVER: 400
A AR 5 (BT RAVER: 500

p.13-3[& {1 13-1a]

AR 5 =T
11 HYK T F5: 121.00

p.13-20[&i{5] 13-2g] 11.0 fJ 2.0 2075 By: 121.00




